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< Statistics >
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Y, =8,+58,X,+ 5:Xo €. € ~ N0.0°). i=1,2, -, n (n=10)

ol M. Xo= miEdo] 69 mgto]™ 09 s, 69 oldold 19 gl e o
w2t oFL thE 5= ol8ote =59 Boreh [50 points]

<HE1> ANOVA

A=) | AEE(SS) | BFAIEEMS) | F BAF

2] H(Regression)

AFXH(Error) 10

Al(Total) 384
<HZ>
iPredictor Coefficient | Standard Error | t-Value P-Value

X 1.6 0.2

X 2.0 1.5

a) <E1>T} <220 AFHIRTS E/deici=t. [10 pBIris]

b) FAR AAIE et et HR7HE2 AlAlst A7gsteie}. [10 points]
c) R*S 5tn 1 oJulE A&stoiet. [10 points]
d) X,9 71&7] Aol tigh 2Ju]E A=3steiet [10 points]
e) X,2] 71271 A7t AP 69 TTtold — 19 2. 69 o]ifold 19 U

e Haedo] =2 =l ofrfe] 7[&7] Algof tiet oJulE Aestoie} [10

points]
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< Mathematical Economics >

X
1. [15 points] The function f(x) = (i) is maximized where x = x,. Find x, and explain

using the precise definition.

2. [20 points] Let f(x) = Vx + 1 (x = —1). Using Taylor polynomial of order 2,
estimate £(0.2).

3. [10 points] Prove or disprove. If f(x) > 0 for x > 0,then lim f(x) = A with A > 0.
X—00

4
4. [15 points] Compute the multiple of the eigenvalues of matrix A = %
1

el
e Nl
o e S

5. [20 points] Find rank of the matrix A on 4.

6. [20 points] Determine whether or not the given linear 'system has the unique solution.

a1 aqp Ai13  QAy4
Az1 QG @23 Q| and b € col(A)
aszq, 043y A3z A3y

Ax = b,where A =

= XAI=E Blis 20N sMSS 26 = Az2M, REEIE 8 4¥H 0182 SYLIC
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